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�
,Q� FDUU\LQJ�RXW� LWV� DFWLYLWLHV�� 6KDULD�%DQNV� FDQQRW�EH� VHSDUDWHG�E\�QRQ�KDODO� IXQG��
7KH� GLVFORVXUH� RI� QRQ�KDODO� IXQG� EHFRPLQJ� XUJHQW� EHFDXVH� 6KDULD� %DQNV� KDYH� DQ�
REOLJDWLRQ�WR�SUHVHQW�VKDULD�FRPSOLDQW� ILQDQFLDO�VWDWHPHQW�EDVHG�RQ�VKDULD�SULQFLSOH�
DQG�VKDULD�DFFRXQWLQJ�VWDQGDUG�QR�������7KH�UHVHDUFK�ZDV�SXUSRVHG�WR�ILQG�RXW�WKH�
FRQIRUPLW\�RI�QRQ�KDODO� IXQG�GLVFORVXUH�DPRQJ�VKDULD�DFFRXQWLQJ�VWDQGDUG�QR������
DQG� 6KDULD� %DQNV� ILQDQFLDO� VWDWHPHQW�� 7KH� UHVXOW� VKRZHG� WKDW� DOO� RI� 6KDULD� %DQNV�
WKDW�REVHUYHG�LQ�WKH�\HDU�RI�����������KDG�GLVFORVHG�LWV�QRQ�KDODO�IXQG�LQ�ILQDQFLDO�
VWDWHPHQW� DFFRUGLQJ� WR� VKDULD� DFFRXQWLQJ� VWDQGDUG� QR�� ����� 7KRXJK�� WKHUH�ZDV� D�
GHILFLHQF\�LQIRUPDWLRQ�DERXW�WKH�GHWDLO�DPRXQW�RI�HDFK�WUDQVDFWLRQ��
�
.H\ZRUGV��6KDULD�%DQNV��'LVFORVXUH��1RQ�+DODO�)XQG�

�

$EVWUDN�
�

3HUEDQNDQ� V\DULDK�GDODP�DNWLYLWDV�ELVQLVQ\D� WHUNDGDQJ� WLGDN� WHUOHSDV�GDUL� NHJLDWDQ�
\DQJ� PHQJKDVLONDQ� SHQHULPDDQ� QRQ�KDODO�� 3HQJXQJNDSDQ� GDQD� QRQ�KDODO� PHQMDGL�
SHQWLQJ�PHQJLQJDW� EDKZD� EDQN� V\DULDK� KDUXV�PHQ\DMLNDQ� ODSRUDQ� NHXDQJDQ� \DQJ�
VHVXDL�GHQJDQ�SULQVLS�V\DULDK�EHUGDVDUNDQ�36$.������3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�
PHQJNDML� VHMDXK� PDQD� NHVHVXDLDQ� SHQJXQJNDSDQ� SHQGDSDWDQ� QRQ�KDODO� DQWDUD�
36$.� ���� GHQJDQ� SUDNWLN� SHQJXQJNDSDQ� SDGD� ODSRUDQ� NHXDQJDQ� EDQN� XPXP�
V\DULDK� GL� ,QGRQHVLD�� +DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� VHPXD� EDQN� XPXP�
V\DULDK�VHODPD�WDKXQ�����������WHODK�PHQJXQJNDSNDQ�SHQGDSDWDQ�QRQ�KDODO�GDODP�
ODSRUDQ� NHXDQJDQQ\D� EDLN� LWX� MXPODK� GDQD�PDXSXQ� SHQMHODVDQQ\D� GDODP� ODSRUDQ�
NHXDQJDQ�� :DODXSXQ� EHOXP� GLWHPXNDQ� VHFDUD� ULQFL� MXPODK� SHU� LWHP� WUDQVDNVL��
1DPXQ�� VHFDUD� XPXP� EDQN� V\DULDK� WHODK� PHQJXQJNDSNDQ� SHQGDSDWDQ� QRQ�KDODO�
VHVXDL�GHQJDQ�36$.������
�

.DWD�.XQFL���%DQN�6\DULDK��3HQJXQJNDSDQ��3HQGDSDWDQ�1RQ�+DODO��
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/DWDU�%HODNDQJ�3HQHOLWLDQ�

,EQX�6KDODK�GLQXNLO�ROHK�DV�6X\XWKL�GDODP�NLWDE�$O�$V\EDK�ZD�DO�1DG]DLU�

PHQ\DWDNDQ��-LND�XDQJ�\DQJ�KDODO�WHUFDPSXU�GHQJDQ�XDQJ�\DQJ�KDUDP�GDQ�

WLGDN� GDSDW� GLEHGDNDQ�� PDND� MDODQ� NHOXDUQ\D� DGDODK� PHPLVDKNDQ� EDJLDQ�

\DQJ� KDUDP� VHUWD� PHQJJXQDNDQ� VLVDQ\D�� 6HGDQJNDQ� EDJLDQ� KDUDP� \DQJ�

GLNHOXDUNDQ��MLND�LD�WDKX�SHPLOLNQ\D��PDND�LD�KDUXV�PHQ\HUDKNDQQ\D�DWDX�ELOD�

WLGDN�PDND�KDUXV�GLVHGHNDKNDQ�´�3HQGDSDW�GL�DWDV�PHUXSDNDQ�VDWX�GDUL�MDODQ�

NHOXDU� GDUL� KDUWD� KDUDP� \DQJ� GLSHUROHK� GDUL� NHJLDWDQ� \DQJ� WLGDN� VHVXDL�

GHQJDQ�SULQVLS�V\DULDK���

+DUWD�DWDX�XDQJ�GDODP�SHUVHSHNWLI� ILNLK�EXNDQODK�EHQGD�KDUDP�NDUHQD�

]DWQ\D��µDLQL\DK���WHWDSL�KDUDP�NDUHQD�FDUD�PHPSHUROHKQ\D�\DQJ�WLGDN�VHVXDL�

V\DULDK� �OLJKDLULK��� VHKLQJJD� GDSDW� XQWXN� GLSLVDKNDQ� PDQD� \DQJ� GLSHUROHK�

GHQJDQ�FDUD�KDODO�GDQ�PDQD�\DQJ�QRQ�KDODO��'HQJDQ�EHJLWX��GDQD�\DQJ�KDODO�

GDSDW� GLDNXL� VHEDJDL� SHQJKDVLODQ� VDK�� VHGDQJNDQ� GDQD� QRQ�KDODO� KDUXV�

GLSLVDKNDQ�GDQ�GLDORNDVLNDQ�XQWXN�NHSHQWLQJDQ�XPXP��6KROLKLQ���������

0HQXUXW�'U��<XVXI�4DUGKDZL�GDODP�5R]LT�GDQ�<DQWL� �������GDQD�QRQ�

KDODO� KDUXV� GLVDOXUNDQ� VHVXDL� NHWHQWXDQ� V\DULDK� \DLWX� PHQJKLQGDUL� DGDQ\D�

NRQVXPVL�GDQ�IDVLOLWDV�LEDGDK��%LDVDQ\D�GDQD�QRQ�KDODO�GLGLVWULEXVLNDQ�XQWXN�

SUR\HN� VRVLDO� VHSHUWL� SHPEDQJXQDQ� MDODQ�� SHQJDGDDQ� WHPSDW� VDPSDK�� GDQ�
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DJHQGD�VRVLDO�ODLQQ\D��'DQD�QRQ�KDODO�LQL�DNDQ�PDVXN�GDODP�GDQD�NHEDMLNDQ��

QDPXQ�KDUXV�GLVDMLNDQ�VHFDUD�WHUSLVDK�GDUL�GDQD�\DQJ�KDODO���

3HUEDQNDQ� V\DULDK� GDODP� DNWLYLWDV� ELVQLVQ\D� WHUNDGDQJ� WLGDN� WHUOHSDV�

GDUL�NHJLDWDQ�\DQJ�PHQJKDVLONDQ�SHQHULPDDQ�QRQ�KDODO��7HUNDLW�KDO� LQL�'61�

08,� GDODP� IDWZDQ\D� PHQ\DWDNDQ� EDKZD� NHJLDWDQ� HNRQRPL� 6\DULDK� GL�

,QGRQHVLD� EHOXP� VHSHQXKQ\D� OHSDV� GDUL� VLVWHP� HNRQRPL� NRQYHQVLRQDO� \DQJ�

ULEDZL�� 6HKLQJJD� '61�08,� PHQJJXQDNDQ� WHRUL� WDIULT� DO�KDODO� µDQ� DO�KDUDP�

GDODP�PHPLVDKNDQ�KDUWD�KDODO�GDUL�\DQJ�KDUDP��

3HQJXQJNDSDQ�SHQGDSDWDQ�QRQ�KDODO�PHQMDGL�SHQWLQJ�PHQJLQJDW�EDKZD�

EDQN�V\DULDK�KDUXV�PHQ\DMLNDQ�ODSRUDQ�NHXDQJDQ�\DQJ�VHVXDL�GHQJDQ�SULQVLS�

V\DULDK�� 6HODLQ� LWX�� SHUXVDKDDQ� EHUNHZDMLEDQ� XQWXN� PHPEHULNDQ� LQIRUPDVL�

EDJL�PDV\DUDNDW�PHQJHQDL�SHUXQWXNDQ�GDQD�QRQ�KDODO�VHKLQJJD�SHQJHORODDQ�

GDQD� QRQ�KDODO� LQL� WLGDN�PHQMDGL� VDODK� NDSUDK� GDODP�SHUVSHNWLI�PDV\DUDNDW�

DZDP���

6DODK�VDWX�EHQWXN�GDUL�WUDQVSDUDQVL�WHUVHEXW�DGDODK�GHQJDQ�PHQ\DMLNDQ�

SHQJXQJNDSDQ� GDQD� QRQ�KDODO� GDODP� ODSRUDQ� NHXDQJDQ� SHUXVDKDDQ� VHVXDL�

GHQJDQ�36$.�����\DQJ�WHQWXQ\D�GLMDGLNDQ�SHGRPDQ�ROHK�EDQN�V\DULDK�GDODP�

PHQJXQJNDSNDQ� SHQGDSDWDQ� QRQ�KDODO� GDODP� ODSRUDQ� NHXDQJDQQ\D��

3HUEDQNDQ� V\DULDK� KDUXV� PH\DNLQNDQ� PDV\DUDNDW�SXEOLN� EDKZD� VHJDOD�

DNWLYLWDV� \DQJ� GLODNXNDQ� WHODK� VHVXDL� GHQJDQ� V\DULDK� LVODP�� 'HQJDQ�
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PH\DNLQNDQ� SXEOLN� SHUEDQNDQ� V\DULDK� KDUXV� PHQ\DMLNDQ� ODSRUDQ� NHXDQJDQ�

\DQJ�PXGDK�GLSDKDPL�GDQ�VHVXDL�GHQJDQ�SULQVLS�V\DULDK���

%HUGDVDUNDQ� SHQMHODVDQ� WHUVHEXW�� SHQHOLWL� LQJLQ�PHQJNDML� VHMDXK�PDQD�

NHVHVXDLDQ� SHQJXQJNDSDQ� SHQGDSDWDQ� QRQ�KDODO� DQWDUD� 36$.� ���� GHQJDQ�

SUDNWLN� SHQJXQJNDSDQ� SDGD� ODSRUDQ� NHXDQJDQ� EDQN� XPXP� V\DULDK� GL�

,QGRQHVLD��

7XMXDQ�3HQHOLWLDQ�

� 3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJNDML� VHMDXK� PDQD� NHVHVXDLDQ�

SHQJXQJNDSDQ� SHQGDSDWDQ� QRQ�KDODO� DQWDUD� 36$.� ���� GHQJDQ� SUDNWLN�

SHQJXQJNDSDQ�SDGD�ODSRUDQ�NHXDQJDQ�EDQN�XPXP�V\DULDK�GL�,QGRQHVLD��

.RQWULEXVL�3HQHOLWLDQ�

3HQHOLWLDQ�GLKDUDSNDQ�EHUJXQD�VHEDJDL�UHIHUHQVL�SHQGXNXQJ�EDJL�NDMLDQ�

PHQJHQDL� SHUVSHNWLI� SHQJXQJNDSDQ� WUDQVDNVL� \DQJ� WLGDN� VHVXDL� GHQJDQ�

SULQVLS�V\DULDK�VHUWD�PHPEDQWX�NKDOD\DN�XQWXN�PHPDKDPL�WUDQVDNVL�V\DULDK�

SDGD�SHUEDQNDQ�V\DULDK�GL�,QGRQHVLD��

�

7(/$$+�/,7(5$785�

�

5R]LT� GDQ� <DQWL� ������� PHQHOLWL� WHQWDQJ� 3HQJDNXDQ�� 3HQJXNXUDQ��

3HQ\DMLDQ� GDQ� 3HQJXQJNDSDQ� 'DQD� 1RQ�+DODO� SDGD� /DSRUDQ� .HXDQJDQ�
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/HPEDJD� $PLO� =DNDW�� +DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� /$=� 5XPDK� <DWLP�

0DQGLUL��/$=�5XPDK�=DNDW�GDQ�/$=�''�6XUDED\D�GDODP�SHUODNXDQ�GDQD�QRQ�

KDODO�EHOXP�VHSHQXKQ\D�VHVXDL�GHQJDQ�NHWHQWXDQ�SHUODNXDQ�DNXQWDQVL�GDQD�

QRQ�KDODO�\DQJ�DGD�GL�36$.������3HUODNXDQ�DNXQWDQVL�GDQD�QRQ�KDODO�PHOLSXWL�

SHQJDNXDQ�� SHQJXNXUDQ�� SHQ\DMLDQ� GDQ� SHQJXQJNDSDQ�� 3HQJXQJNDSDQ� LQL�

WHUGLUL�GDUL�SHQJXQJNDSDQ�MXPODK��VXPEHU��DODVDQ�GDQ�SHQ\DOXUDQ�GDQD�QRQ�

KDODO����

+LVDPXGGLQ�GDQ�6KROLNKD��������GDODP�SHQHOLWLDQQ\D�WHQWDQJ�3HUVHSVL��

3HQ\DMLDQ� GDQ� 3HQJXQJNDSDQ� 'DQD� 1RQ�+DODO� SDGD� %$=1$6� GDQ� 3.38�

PHPEXNWLNDQ�EDKZD�SHUXQWXNDQ�GDQD�QRQ�KDODO�GLJXQDNDQ�XQWXN�SHUEDLNDQ�

IDVLOLWDV� XPXP� WHWDSL� IDVLOLWDV� \DQJ� EHUKXEXQJDQ� GHQJDQ� IDVLOLWDV�IDVLOLWDV�

VHNRODK� \DQJ� PDVLK� EHUDGD� GDODP� QDXQJDQ� \D\DVDQ� ,VODP�� %$=1$6� WHODK�

PHQ\DMLNDQ� GDQD� QRQ�KDODO� VHFDUD� EHUSLVDK� GDUL� GDQD� ODLQQ\D�� +DO� LQL�

GLODNXNDQ� VHVXDL� GHQJDQ� V\DULDW� ,VODP�� \DLWX� GHQJDQ� PHQ\DOXUNDQ� ]DNDW�

VHVXDL�GHQJDQ�SHUROHKDQ�GDQD�]DNDW��VHGDQJNDQ�WDPEDKDQ�VHODLQ�QLODL�]DNDW�

GLDNXL� VHEDJDL� GDQD� QRQ�KDODO� GDQ� WHODK� GLVDMLNDQ� SDGD� ODSRUDQ� NHXDQJDQ��

.HELMDNDQ� PHQJHQDL� SHQHULPDDQ�� SHQ\DOXUDQ� GDQD� QRQ�KDODO� EHOXP�

GLXQJNDSNDQ�ROHK�%$=1$6�/XPDMDQJ���

6HPHQWDUD� GDQD� QRQ�KDODO� \DQJ� DGD� SDGD� 3.38� GLJXQDNDQ� XQWXN�

NHSHQWLQJDQ� GDQ� NHJLDWDQ� VRVLDO� VHSHUWL� SHUEDLNDQ� MDODQ�� SHPEXDWDQ� NDPDU�
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PDQGL� PXVKROODK� GDQ� ODLQ�ODLQ�� 'DQD� QRQ�KDODO� WHUVHEXW� GLVDOXUNDQ� WLGDN�

VHWLDS� EXODQQ\D� PHODLQNDQ� GLVDOXUNDQ� VHVXDL� GHQJDQ� SURJUDP� \DQJ� WHODK�

GLVHSDNDWL�� GHQJDQ� DODVDQ� NDUHQD� WLGDN� VHWLDS� EXODQQ\D� DNDQ� DGD� SURJUDP�

EDUX� VHUWD� MXPODK� GDQD� QRQ�KDODO� VHWLDS� EXODQQ\D� WLGDN� WHUODOX� EDQ\DN�

VHKLQJJD�SHUOX�GLDNXPXODVLNDQ�GHQJDQ�GDQD�QRQ�KDODO�SDGD�VHWLDS�EXODQQ\D��

3.38�WHODK�PHQ\DMLNDQ�GDQD�QRQ�KDODO�VHFDUD�WHUSLVDK�GDUL�GDQD�]DNDW��LQIDN��

GDQ�VKRGDTRK��+DO�LQL�GLODNXNDQ�NDUHQD�GDQD�QRQ�KDODO�PHUXSDNDQ�GDQD�\DQJ�

PHPDQJ�GLJXQDNDQ�XQWXN�NHJLDWDQ�\DQJ� WLGDN�EHUKXEXQJDQ�GHQJDQ�V\DULDW�

,VODP��3.38�EHOXP�PHQJXQJNDSNDQ�PHQJHQDL�NHELMDNDQ�MXPODK�SHQHULPDDQ�

GDQ�SHQ\DOXUDQ�GDQD�QRQ�KDODO�VHUWD�SHUXQWXNDQ�GDQD�QRQ�KDODO�WHUVHEXW����

0DXOLGKD�GDQ�%D\LQDK��������PHQMHODVNDQ�EDKZD�SHQJXQJNDSDQ�GDQD�

QRQ�KDODO�VHWLGDNQ\D�DGD�EHEHUDSD�SRLQ�NKXVXV�\DLWX�3HQHULPDDQ�'DQD�1RQ�

+DODO�\DQJ�PDVXN�SDGD�EDQN�V\DULDK�KDUXV�GLDNXL�VHEDJDL�NHZDMLEDQ�NDUHQD�

WLGDN� GLSHUEROHKNDQ� VHEDJDL� EDJLDQ� GDUL� SHQGDSDWDQ� GDQ� ZDMLE� GLNHOXDUNDQ�

ROHK�SHUXVDKDDQ�XQWXN�NKXVXV�KDMDW�VRVLDO��-LND�PHPDQJ�PXQFXO�VDKDP�DWDX�

SHQHPSDWDQ� SDGD� NRQYHQVLRQDO�� PDND� SURVHQWDVHQ\D� KDUXV� OHELK� GRPLQDQ�

V\DULDK� GDULSDGD� NRQYHQVLRQDO�� 3HQJXQJNDSDQ� GDQD� QRQ� KDODO� KDUXV� VHFDUD�

OHQJNDS� GLXQJNDSNDQ� GDODP� FDWDWDQ� DWDV� ODSRUDQ� NHXDQJDQ� DWDX� DQQXDO�

UHSRUW�VHEDJDL�WUDQVSDUDQVL�NHSDGD�SXEOLN��
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6DOHKRGLQ�HW�DO�� �������PHQHPXNDQ�EDKZD� OHPEDJD�NHXDQJDQ�V\DULDK�

PDVLK�PHQJJXQDNDQ�SHQGDSDWDQ�QRQ�KDODO�VHEDJDL�VXPEHU�GDQ�SHQJJXQDDQ�

GDODP� GDQD� TDUGKXO� KDVDQ� \DQJ� PHQJDNLEDWNDQ� VXPEHU� VXEKDW� DWDX�

NHWLGDNMHODVDQ�EDLN�GDODP�VXPEHU�DWDXSXQ�XQWXN�SHQJJXQDDQ�GDQD�WHUVHEXW���

%DODQJJHU� HW� DO�� �������PHQHPXNDQ�EDKZD�SHQJXQJNDSDQ�NHVHVXDLDQ�

ODSRUDQ� GDQD� ]DNDW� GDQ� GDQD� NHEDMLNDQ� VXGDK� VHVXDL� GHQJDQ� 3HUQ\DWDDQ�

6WDQGDU� $NXQWDQVL� .HXDQJDQ� �36$.�� 1RPRU� ����� WHWDSL� PDVLK� DGD� MXJD�

NHWLGDNVHVXDLDQ�GDODP�SHQJXQJNDSDQ�ODSRUDQ�GDQD�]DNDW�GDQ�GDQD�NHEDMLNDQ�

\DLWX� GDODP� SHQ\DOXUDQ� GDQD� ]DNDW� GDQ� GDQD� NHEDMLNDQ� %DQN� %5,� 6\DULDK�

&DEDQJ�0DQDGR�PHQ\DOXUNDQ�SDGD�OHPEDJD�%DGDQ�=DNDW�GDQ�$PL/�1DVLRDQDO�

�%$=1$6����

3HUEDQNDQ�6\DULDK�

88�1R�����WDKXQ������WHQWDQJ�3HUEDQNDQ�6\DULDK�PHQGHILQLVLNDQ�EDQN�

V\DULDK�VHEDJDL�EDQN�\DQJ�PHQMDODQNDQ�NHJLDWDQ�XVDKD�EHUGDVDUNDQ�SULQVLS�

V\DULDK�� DWDX� SULQVLS� KXNXP� LVODP� \DQJ� GLDWXU� GDODP� IDWZD� 0DMHOLV� 8ODPD�

,QGRQHVLD� VHSHUWL� SULQVLS� NHDGLODQ� GDQ� NHVHLPEDQJDQ� �
DGO� ZD� WDZD]XQ���

NHPDVODKDWDQ��PDVODKDK���XQLYHUVDOLVPH��DODPL\DK���VHUWD�WLGDN�PHQJDQGXQJ�

JKDUDU�� PD\VLU�� ULED�� ]DOLP� GDQ� RE\HN� \DQJ� KDUDP�� 7DWD� NHOROD� SHUEDQNDQ�

V\DULDK� WHODK� PHQJDWXU� EDKZD� SHQGDSDWDQ� QRQ�KDODO� GDQ� SHQJJXQDDQQ\D�

GDODP�EDQN�V\DULDK�KDUXV�GLXQJNDSNDQ�GDODP� ODSRUDQ� WDKXQDQ�SHODNVDQDDQ�
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*&*�� LQL� GLDWXU� GDODP� 6(%,� 1R�������'3E6�� WDQJJDO� ��� $SULO� ������ SHULKDO�

3HODNVDQDDQ�*RRG�&RUSRUDWH�*RYHUQDQFH�EDJL�%DQN�8PXP�6\DULDK�GDQ�8QLW�

8VDKD�6\DULDK���

3HODNVDQDDQ�IXQJVL�SHQJDWXUDQ�GDQ�SHQJDZDVDQ�SHUEDQNDQ�V\DULDK�GDUL�

DVSHN� SHODNVDQDDQ� SULQVLS� NHKDWL�KDWLDQ� GDQ� WDWD� NHOROD� \DQJ� EDLN�

GLODNVDQDNDQ� ROHK� 2-.� VHEDJDLPDQD� KDOQ\D� SDGD� SHUEDQNDQ� NRQYHQVLRQDO��

QDPXQ�GHQJDQ�SHQJDWXUDQ�GDQ�VLVWHP�SHQJDZDVDQ�\DQJ�GLVHVXLDNDQ�GHQJDQ�

NHNKDVDQ� VLVWHP� RSHUDVLRQDO� SHUEDQNDQ� V\DULDK�� .HSDWXKDQ� SDGD� SULQVLS�

V\DULDK�PHQMDGL� VDQJDW� IXQGDPHQWDO� NDUHQD� KDO� LQLODK� \DQJ�PHQMDGL� DODVDQ�

GDVDU� HNVLVWHQVL� EDQN� V\DULDK�� 6HODLQ� LWX�� NHSDWXKDQ� SDGD� SULQVLS� V\DULDK�

GLSDQGDQJ�VHEDJDL�VLVL�NHNXDWDQ�EDQN�V\DULDK��'HQJDQ�NRQVLVWHQ�SDGD�QRUPD�

GDVDU� GDQ� SULQVLS� V\DULDK� PDND� NHPDVODKDWDQ� EHUXSD� NHVWDELODQ� VLVWHP��

NHDGLODQ� GDODP� EHUNRQWUDN� GDQ� WHUZXMXGQ\D� WDWD� NHOROD� \DQJ� EDLN� GDSDW�

EHUZXMXG��ZZZ�RMN�JR�LG���

/DSRUDQ�.HXDQJDQ�(QWLWDV�6\DULDK�

3HUQ\DWDDQ� 6WDQGDU� $NXQWDQVL� .HXDQJDQ� ����� 3HQ\DMLDQ� /DSRUDQ�

.HXDQJDQ� 6\DULDK� �VHODQMXWQ\D� GLVHEXW� 36$.� ����� PHQHWDSNDQ� GDVDU�

SHQ\DMLDQ� ODSRUDQ� NHXDQJDQ� EHUWXMXDQ� XPXP� XQWXN� HQWLWDV� V\DULDK��

3HUQ\DWDDQ� LQL� PHQJDWXU� SHUV\DUDWDQ� SHQ\DMLDQ� ODSRUDQ� NHXDQJDQ�� VWUXNWXU�
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ODSRUDQ� NHXDQJDQ�� GDQ� SHUV\DUDWDQ� PLQLPDO� LVL� ODSRUDQ� NHXDQJDQ� DWDV�

WUDQVDNVL�V\DULDK��

36$.� ���� PHPEHULNDQ� SHQMHODVDQ� DWDV� NDUDNWHULVWLN� XPXP� SDGD� ODSRUDQ�

NHXDQJDQ�V\DULDK��DQWDUD�ODLQ�WHUNDLW��

��� 3HQ\DMLDQ�VHFDUD�ZDMDU�GDQ�NHSDWXKDQ�WHUKDGDS�6$.��

��� 'DVDU�DNUXDO��

��� 0DWHULDOLWDV�GDQ�SHQJJDEXQJDQ��

��� 6DOLQJ�KDSXV��

��� )UHNXHQVL�SHODSRUDQ��

��� ,QIRUPDVL�NRPSDUDWLI��GDQ�

��� .RQVLVWHQVL�3HQ\DMLDQ�

36$.� ���� MXJD�PHPEHULNDQ� SHQMDEDUDQ� VWUXNWXU� GDQ� LVL� SDGD� ODSRUDQ�

NHXDQJDQ�V\DULDK��PHQFDNXS��

��� /DSRUDQ�3RVLVL�.HXDQJDQ�

��� /DSRUDQ�/DED�5XJL�GDQ�3HQJKDVLODQ�.RPSUHKHQVLI�/DLQ�

��� /DSRUDQ�3HUXEDKDQ�(NXLWDV�

��� /DSRUDQ�$UXV�.DV�

��� &DWDWDQ�DWDV�/DSRUDQ�.HXDQJDQ� �

:L\RQR�PHQDPEDKNDQ�EDKZD�/DSRUDQ�NHXDQJDQ�HQWLWDV�V\DULDK�DGDODK�

VXDWX� SHQ\DMLDQ� WHUVWUXNWXU� GDUL� SRVLVL� NHXDQJDQ�GDQ� NLQHUMD� NHXDQJDQ�GDUL�
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VXDWX�HQWLWDV� V\DULDK��7XMXDQ� ODSRUDQ�NHXDQJDQ�XQWXN� WXMXDQ�XPXP�DGDODK�

PHPEHULNDQ�LQIRUPDVL�WHQWDQJ�SRVLVL�NHXDQJDQ��NLQHUMD�GDQ�DUXV�NDV�HQWLWDV�

V\DULDK��\DQJ�EHUPDQIDDW��EDJL�VHEDJLDQ�EHVDU��NDODQJDQ�SHQJJXQD� ODSRUDQ�

GDODP�UDQJND�PHPEXDW�NHSXWXVDQ�±NHSXWXVDQ��HNRQRPL�VHUWD�PHQXQMXNNDQ�

SHUWDQJJXQJMDZDEDQ� �VWHZDUGVKLS�� PDQDMHPHQ� DWDV� SHQJJXQDDQ� VXPEHU��

VXPEHU� GD\D� \DQJ� GLSHUFD\DNDQ� NHSDGD� PHUHND�� 'DODP� UDQJND� PHQFDSDL�

WXMXDQ� WHUVHEXW�� VXDWX� ODSRUDQ� NHXDQJDQ� PHQ\DMLNDQ� LQIRUPDVL� PHQJHQDL�

HQWLWDV�V\DULDK�\DQJ�PHOLSXWL��

D�� $VHW��

E�� .HZDMLEDQ��

F�� 'DQD�V\LUNDK�WHPSRUHU��

G�� (NXLWDV��

H�� 3HQGDSDWDQ�GDQ�EHEDQ�WHUPDVXN�NHXQWXQJDQ�GDQ�NHUXJLDQ��

I�� $UXV�NDV��

J�� 'DQD�]DNDW��GDQ�

K�� 'DQD�NHEDMLNDQ��SDUDJUDI����36$.�QR�������������

'DQD�1RQ�+DODO��

'DQD� QRQ�KDODO� GDODP� /HPEDJD� .HXDQJDQ� 6\DULDK� �/.6�� DGDODK� GDQD�

\DQJ� NHWLND� GLDNXL� VHEDJDL� SHQGDSDWDQ�� PDND� ELVD� PDVXN� NDWHJRUL�

SHQGDSDWDQ� WLGDN� KDODO� �6KROLKLQ�� ������� 0HQXUXW� )RUXP� =DNDW� �)2=�� GDQD�
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QRQ�KDODO� DGDODK� GDQD� \DQJ� GLSHUROHK� GDUL� EDQN� NRQYHQVLRQDO� GLPDQD� WLGDN�

PHQMDGL� VXDWX�NHVHQJDMDDQ�XQWXN�GLVLPSDQ�PHODLQNDQ�VHEXDK� IDVLOLWDV�\DQJ�

GLVHGLDNDQ�EDJL�PX]DNL�XQWXN�PHPSHUPXGDK�PHODNXNDQ�WUDQVDNVL���

� +LVDPXGGLQ� GDQ� 6KROLNKD� ������� GDODP� SHQHOLWLDQQ\D� PHQ\HEXWNDQ�

EDKZD� VXPEHU� GDQD� QRQ�KDODO� PHUXSDNDQ� VXPEHU� GDQD� \DQJ� EHUDVDO� GDUL�

LQWHUQDO�GDQ�HNVWHUQDO�EDQN��6XPEHU�GDQD�LQWHUQDO�PHOLSXWL� LQIDN��VKRGDTRK��

GDQ�KLEDK��6HGDQJNDQ� VXPEHU�GDQD�HNVWHUQDO�PHOLSXWL� GHQGD��EXQJD�EDQN��

GDQ�ODLQ�VHEDJDLQ\D��

.DLGDK�±�NDLGDK�GDODP�SHUODNXDQ�GDQD�\DQJ�EHUVXPEHU�GDUL�DNWLYLWDV�

QRQ�KDODO�\DLWX��$$2,),�GDODP�0DXOLGKD�GDQ�%D\LQDK�����������

D�� 'DQD� \DQJ� EHUVXPEHU� GDUL� DNWLYLWDV� QRQ�KDODO� DGDODK� VHWLDS� SHQGDSDWDQ�

\DQJ� EHUVXPEHU� GDUL� WUDQVDNVL� \DQJ� GLODUDQJ� V\DULDK�� VHSHUWL� EXQJD� GDUL�

WUDQVDNVL�SLQMDPDQ�EHUEXQJD�

E�� 8ODPD� VHSDNDW� EDKZD� SHQGDSDWDQ� WHUVHEXW� DGDODK� KDUWD� QRQ�KDODO��

6HGDQJNDQ� EDJLDQ�PRGDO� DWDX� SLQMDPDQ� �DVKOX� DO�TXUXGK�� LWX� KXNXPQ\D�

KDODO���

F�� 3HQGDSDWDQ� QRQ�KDODO� WHUVHEXW� WLGDN� EROHK� GLJXQDNDQ� ROHK� SHPLOLNQ\D�

VHEDJDL� VXPEHU� WDEXQJDQ� DWDX� GHSRVLWR�� WHWDSL� KDUXV�PHPEHUVLKNDQQ\D��

GHQJDQ�FDUD�PHQ\DOXUNDQQ\D�XQWXN�KDMDW�KDMDW�VRVLDO��
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G��-LND�WHUMDGL��PDND�GHSRVDQ� WHODK�EHUGRVD�PHQJJXQDNDQ�VXPEHU�GHSRVLWR�

GDUL� KDUWD� QRQ�KDODO�� %DJL� /.� SHQHULPD�SHQJHOROD� GHSRVLWR�� MLND� WLGDN�

PHQJHWDKXLQ\D�� PDND� WLGDN� EHUGRVD�� 7HWDSL� MLND� PHQJHWDKXLQ\D�� PDND�

KDUXV�GLVDOXUNDQ�XQWXN�NHSHQWLQJDQ�VRVLDO���

3HQJDNXDQ��3HQJXNXUDQ��3HQ\DMLDQ�GDQ�3HQJXQJNDSDQ�3HQGDSDWDQ�

1RQ�+DODO�GDODP�36$.������

��� 3HQJDNXDQ�GDQ�3HQJXNXUDQ�'DQD�1RQ�+DODO�

� 3HQHULPDDQ� GDQD� QRQ�KDODO� DGDODK� VHPXD� SHQHULPDDQ� GDUL� NHJLDWDQ�

\DQJ� WLGDN� VHVXDL� GHQJDQ�SULQVLS� V\DULDK�� DQWDUD� ODLQ� SHQHULPDDQ� MDVD�

JLUR�DWDX�EXQJD�\DQJ�EHUDVDO�GDUL�EDQN�NRQYHQVLRQDO��3HQHULPDDQ�GDQD�

QRQ�KDODO� SDGD� XPXPQ\D� WHUMDGL� GDODP� NRQGLVL� GDUXUDW� DWDX� NRQGLVL�

\DQJ�WLGDN�GLLQJLQNDQ�ROHK�HQWLWDV�V\DULDK�NDUHQD�VHFDUD�SULQVLS�GLODUDQJ��

3HQHULPDDQ�GDQD�QRQ�KDODO�GLDNXL�VHEDJDL�GDQD�QRQ�KDODO��\DQJ�WHUSLVDK�

GDUL� GDQD� ]DNDW�� GDQD� LQIDN�VHGHNDK� GDQ� GDQD� DPLO�� $VHW� QRQ�KDODO�

GLVDOXUNDQ�VHVXDL�GHQJDQ�V\DULDK��

���3HQ\DMLDQ�GDQ�3HQJXQJNDSDQ�=DNDW�GDQ�,QIDN�6HGHNDK�

� $PLO�PHQ\DMLNDQ�GDQD�]DNDW��GDQD�LQIDN�VHGHNDK��GDQD�DPLO��GDQ�GDQD�

QRQ�KDODO�VHFDUD�WHUSLVDK�GDODP��ODSRUDQ�SRVLVL�NHXDQJDQ���

�

� �
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0(72'2/2*,�3(1(/,7,$1�

�

-HQLV�5DQFDQJDQ�3HQHOLWLDQ�

3HQHOLWLDQ� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� GHQJDQ� SHQGHNDWDQ�

NXDOLWDWLI� \DQJ� EHUVLIDW� LQWHUSUHWLYH�� GL� PDQD� GDWD� SHUXVDKDDQ� GLDQDOLVLV�

NHPXGLDQ�GLEDQGLQJNDQ�GHQJDQ�NRQVHS�GDQ�WHRUL�XQWXN�PHQJKDVLONDQ�VLVWHP�

GDQ� PHWRGH� \DQJ� EDLN� GDODP� SHQJDPELODQ� NHSXWXVDQ�� 3HQHOLWLDQ� LQL�

GLIRNXVNDQ�SDGD�.DMLDQ�.HVHVXDLDQ�3HUQ\DWDDQ�6WDQGDU�$NXQWDQVL�.HXDQJDQ�

�36$.�� 6\DULDK� 1R����� WHQWDQJ� SHQGDSDWDQ� QRQ�KDODO� GHQJDQ� SUDNWLN� \DQJ�

WHUGDSDW�GDODP�ODSRUDQ�NHXDQJDQ�%DQN�8PXP�6\DULDK�GL�,QGRQHVLD��

3RSXODVL��6DPSHO�GDQ�7HNQLN�3HQJDPELODQ�6DPSHO�

3RSXODVL�SDGD�SHQHOLWLDQ�LQL�DGDODK�VHOXUXK�EDQN�XPXP�V\DULDK�QDVLRQDO�

GL�,QGRQHVLD��7HNQLN�SHQJDPELODQ�VDPSHO�PHQJJXQDNDQ�SXUSRVLYH�VDPSOLQJ��

%HUGDVDUNDQ� NULWHULD� \DQJ� GLWHWDSNDQ�� GLSHUROHK� VDPSHO� VHEDQ\DN� ���

SHUXVDKDDQ�VHODPD���WDKXQ�������������VHKLQJJD�WRWDO�REVHUYDVL�PHQMDGL����

XQLW��

-HQLV�GDQ�6XPEHU�'DWD�

6XPEHU�GDWD�\DQJ�GLJXQDNDQ�GDODP�SHQHOLWLDQ�LQL�DGDODK�GDWD�VHNXQGHU��

'DWD� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� GLSHUROHK� GDUL� ODSRUDQ� WDKXQDQ�
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\DQJ�GLWHUELWNDQ� ROHK� EDQN� XPXP� V\DULDK� GL� ,QGRQHVLD� SDGD� SHULRGH� �����

�����PHODOXL�ZHEVLWH�GDUL�PDVLQJ�PDVLQJ�EDQN��

0RGHO�3HQHOLWLDQ�

3HQHOLWLDQ� LQL�GL�XML�GHQJDQ�PHQLODL� WUDQVDNVL� \DQJ� WHULQGLNDVL�QRQ�KDODO�

GDODP�ODSRUDQ�NHXDQJDQ�GHQJDQ�XNXUDQ�\DQJ�WHODK�GLWHWDSNDQ�VHVXDL�GHQJDQ�

36$.�������

7DEHO���

7UDQVDNVL�7HULQGLNDVL�1RQ�+DODO�

�

1DPD�7UDQVDNVL�GDODP�
/.�%86�

3HQ\DMLDQ�/.�
3HQJXQJNDSDQ�'DQD�1RQ�+DODO�

36$.�����

3HQGDSDWDQ�GDUL�EDQN�ODLQ�� /DED�5XJL�� µ� -LND�GDQD�\DQJ�GLSHUROHK�GDUL�EDQN�ODLQ�
DGDODK�EDJL�KDVLO�DWDX�SHQGDSDWDQ� ODLQ�
\DQJ� VHVXDL� V\DULDK� PDND� GLVDMLNDQ�
GDODP�ODED�UXJL��

µ� -LND�GDUL�EXQJD�PDND�KDUXV�GLSLVDKNDQ�
SDGD�NHZDMLEDQ��

3HQGDSDWDQ�EXQJD�� /DED�5XJL�� 7LGDN� GLSHUEROHKNDQ� SHQ\DMLDQ� EXQJD�

SDGD�SHQGDSDWDQ��

3HQGDSDWDQ� RSHUDVLRQDO��

XVDKD�ODLQQ\D��

/DED�5XJL�� 'LMHODVNDQ�SDGD�&/.�GDQD�DSD�VDMD��-LND�

DGD� XQVXU� QRQ� KDODO� PDND� KDUXV�

GLNHOXDUNDQ�GDUL�ODED�UXJL��

3HQGDSDWDQ� QRQ�

RSHUDVLRQDO��XVDKD��

/DED�5XJL�� 'LMHODVNDQ�SDGD�&/.�GDQD�DSD�VDMD��-LND�

DGD� XQVXU� QRQ� KDODO� PDND� KDUXV�

GLNHOXDUNDQ�GDUL�ODED�UXJL��

�

� �



�

�
,QGULD�3XVSLWDVDUL�/HQDS���3HQJXQJNDSDQ�3HQGDSDWDQ�1RQ�+DODO���36$.�����96�3UDNWLN�

�

�

�

���

3URVHGXU�$QDOLVD�'DWD�

7DKDSDQ�DQDOLVLV�GDWD�GDODP�SHQHOLWLDQ�NXDOLWDWLI�PHQXUXW�6XJL\RQR��������

\DLWX���

���5HGXNVL�'DWD��'DWD�5HGXFWLRQ��

���3HQ\DMLDQ�'DWD��'DWD�'LVSOD\��

���3HQDULNDQ�.HVLPSXODQ��&RQFOXVLRQ�'UDZLQJ�YHULILFDWLRQ��

�

+$6,/�3(1(/,7,$1�'$1�3(0%$+$6$1�

�

*DPEDUDQ�8PXP�2EMHN�3HQHOLWLDQ� �

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJNDML� VHMDXK� PDQD� NHVHVXDLDQ�

SHQJXQJNDSDQ� SHQGDSDWDQ� QRQ�KDODO� DQWDUD� 36$.� ���� GHQJDQ� SUDNWLN�

SHQJXQJNDSDQ� SDGD� ODSRUDQ� NHXDQJDQ� EDQN� XPXP� V\DULDK� GL� ,QGRQHVLD��

2EMHN�SHQHOLWLDQ�LQL�DGDODK�%DQN�8PXP�6\DULDK�GHQJDQ�MXPODK�VHEDQ\DN����

SHUXVDKDDQ���

%HUGDVDUNDQ� PHWRGH� SXUSRVLYH� VDPSOLQJ� GLSHUROHK� GDWD� VHEDQ\DN� ���

SHUXVDKDDQ� \DQJ� PHPHQXKL� NULWHULD� SHQHOLWLDQ� \DQJ� GLODNXNDQ� VHODPD� ��

WDKXQ�\DLWX������������6HKLQJJD�GLSHUROHK����XQLW�REVHUYDVL�\DQJ�GLJXQDNDQ�

XQWXN�SHQJXMLDQ��'DUL�GDWD�\DQJ� WHUGDSDW�GDODP� ODSRUDQ�NHXDQJDQ��3HQHOLWL�
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PHULQJNDV�MXPODK�SHQGDSDWDQ�QRQ�KDODO�EDQN�XPXP�V\DULDK�VHODPD���WDKXQ�

\DLWX�WDKXQ�������������

7DEHO����

3HQGDSDWDQ�1RQ�+DODO�%DQN�8PXP�6\DULDK�7DKXQ�����������

1R� 1DPD�%DQN� ����� ����� ����� 5DWD�5DWD�SHU�

7DKXQ��5S��

�� 08$0$/$7� �������������� �������������� ������������ ��������������

�� %60� ������������ ������������ ����������� ������������

�� 0(*$�6<5� ������������ ������������ ������������ ������������

�� %5,6� ������������ ������������ ������������ ������������

�� %8.23,1�6<5� ������������ ������������ ������������ ������������

�� 3$1,1�'%�6<5� ������������ �� �� �����������

�� 9,&725,$�6<5� ���������� �������� ������������ ������������

�� %&$�6<5� ����������� ���������� ����������� �����������

�� %-%�6<5� ������������ ������������ �� ������������

��� %1,�6<5� ������������ ����������� �������������� ������������

��� 0$<%$1.�
6<5�

����������� ����������� ����������� �����������

��� %731�6<5� ������������ ����������� �� �����������

�

� 'DUL�WDEHO�GL�DWDV�GDSDW�GLVLPSXONDQ�EDKZD�EDQN�XPXP�V\DULDK�\DQJ�

PHQJXPSXONDQ�SHQGDSDWDQ�QRQ�KDODO�WHUEDQ\DN�GLPLOLNL�ROHK�EDQN�0XDPDODW�

GHQJDQ� UDWD�UDWD� VHODPD� �� WDKXQ� VHEHVDU� 5S�� ��������������� -XPODK� LQL�



�

�
,QGULD�3XVSLWDVDUL�/HQDS���3HQJXQJNDSDQ�3HQGDSDWDQ�1RQ�+DODO���36$.�����96�3UDNWLN�

�

�

�

���

WHUELODQJ� VDQJDW� WLQJJL� GLEDQGLQJNDQ� GHQJDQ� EDQN� ODLQ� \DQJ� KDQ\D�

PHQJROHNVL� MXPODK� 5S�� ������������ NH� EDZDK�� 6HPHQWDUD� LWX�� MXPODK�

SHQGDSDWDQ� QRQ�KDODO� SDOLQJ� VHGLNLW� GLPLOLNL� ROHK� 0D\EDQN� 6\DULDK� GHQJDQ�

UDWD�UDWD� VHODPD� �� WDKXQ� VHEHVDU� � 5S�� ������������ 'DUL� SHQJDPDWDQ� \DQJ�

GLODNXNDQ� SDGD� ODSRUDQ� NHXDQJDQ� EDQN� V\DULDK�� 'DSDW� GLVLPSXONDQ� EDKZD�

VHOXUXK� VXGDK� PHQMHODVNDQ� EDLN� GDODP� JDULV� EHVDU� PDXSXQ� VHFDUD� ULQFL�

SHUXQWXNNDQ�GDQD�QRQ�KDODO�\DQJ�GLWHULPD���

�

+DVLO�GDQ�3HPEDKDVDQ�

�

%HUGDVDUNDQ� KDVLO� SHQHOXVXUDQ� WUDQVDNVL� \DQJ� WHULQGLNDVL� SHQGDSDWDQ�

QRQ�KDODO�\DQJ�PHQMDGL�VXPEHU�GDQD�NHEDMLNDQ�EDQN�WHUGLUL�GDUL���

��� 'DQD� .HEDMLNDQ� GDUL� -DVD� *LUR�� \DNQL� 'DQD� NHEDMLNDQ� \DQJ� EHUDVDO� GDUL�

MDVD�JLUR�\DQJ�GLWHULPD�EDQN�GDUL�SHQHPSDWDQ�SDGD�EDQN�NRQYHQVLRQDO���

��� 'DQD�.HEDMLNDQ�/DLQQ\D��\DNQL�'DQD�NHEDMLNDQ�\DQJ�EHUDVDO�GDUL�NRPLVL��

IHH�� DWDX� SHQGDSDWDQ� GDODP� EHQWXN� ODLQQ\D� GDUL� UHNDQDQ� EDQN� VHODLQ�

SHQGDSDWDQ�\DQJ�EHUKDN�GLWHULPD�VHVXDL�GHQJDQ�NHWHQWXDQ�PDQDMHPHQ���

$GDSXQ� NHVHVXDLDQ� SHQJXQJNDSDQ� DQWDUD� 36$.� ���� GHQJDQ� ODSRUDQ�

NHXDQJDQ�EDQN�XPXP�V\DULDK�GLSHUROHK�KDVLO�VHEDJDL�EHULNXW���

� �
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7DEHO���

+DVLO�3HQJXQJNDSDQ�36$.�����GDQ�/DSRUDQ�.HXDQJDQ�

�

1R� 1DPD�%DQN� 3HQGDSDWDQ�
GDUL�EDQN�ODLQ�

3HQGDSDWDQ�
EXQJD��

3HQGDSDWDQ�

RSHUDVLRQDO��

XVDKD�ODLQQ\D��

3HQGDSDWDQ�QRQ�
RSHUDVLRQDO��
XVDKD��

�� 08$0$/$7� 6� 6� 6� 6�

�� %60� 6� 6� 6� 6�

�� 0(*$�6<5� 6� 6� 6� 6�

�� %5,6� 6� 6� 6� 6�

�� %8.23,1�6<5� 6� 6� 6� 6�

�� 3$1,1�'%�6<5� 6� 6� 6� 6�

�� 9,&725,$�6<5� 6� 6� 6� 6�

�� %&$�6<5� 6� 6� 6� 6�

�� %-%�6<5� 6� 6� 6� 6�

��� %1,�6<5� 6� 6� 6� 6�

��� 0$<%$1.�6<5� 6� 6� 6� 6�

��� %731�6<5� 6� 6� 6� 6�

�
.HWHUDQJDQ���6� �6HVXDL���76� �7LGDN�6HVXDL�

+DVLO�SHQHOLWLDQ�PHQXQMXNNDQ�EDKZD�VHPXD�EDQN�XPXP�V\DULDK�VHODPD�

WDKXQ�����������WHODK�PHQJXQJNDSNDQ�SHQGDSDWDQ�QRQ�KDODO�GDODP�ODSRUDQ�

NHXDQJDQQ\D� EDLN� LWX� MXPODK� GDQD� PDXSXQ� SHQMHODVDQQ\D� GDODP� ODSRUDQ�

NHXDQJDQ�� +DVLO� SHQHOLWLDQ� LQL� VHMDODQ� GHQJDQ� SHQHOLWLDQ� %DODQJJHU� HW� DO��
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��������+DVLO�LQL��EHUEHGD�GHQJDQ�KDVLO�SHQHOLWLDQ�5R]LT�GDQ�<DQWL��������GDQ�

+LVDPXGGLQ� GDQ� 6KROLNKD� �������� :DODXSXQ� EHOXP� GLWHPXNDQ� VHFDUD� ULQFL�

MXPODK� SHU� LWHP� WUDQVDNVL�� 1DPXQ�� VHFDUD� XPXP� EDQN� V\DULDK� WHODK�

PHQJXQJNDSNDQ� SHQGDSDWDQ� QRQ�KDODO� VHVXDL� GHQJDQ� 36$.� ���� WHQWDQJ�

SHQGDSDWDQ� QRQ�KDODO�� .DUHQD� SDGD� LQWLQ\D� VHSHUWL� \DQJ� GLXQJNDSNDQ�

0DXOLGKD� GDQ� %D\LQDK� ������� EDKZD� SHQJXQJNDSDQ� GDQD� QRQ� KDODO� KDUXV�

VHFDUD� OHQJNDS� GLXQJNDSNDQ� GDODP� FDWDWDQ� DWDV� ODSRUDQ� NHXDQJDQ� DWDX�

DQQXDO�UHSRUW�VHEDJDL�WUDQVSDUDQVL�NHSDGD�SXEOLN��

%HEHUDSD� SHQJXQJNDSDQ� GDODP� ODSRUDQ� NHXDQJDQ� WHUNDLW� GHQJDQ�

WUDQVDNVL� EDQN� XPXP� V\DULDK� \DQJ� VHVXDL� GHQJDQ� SULQVLS� V\DULDK� GDQ�

SHUODNXDQ�WHUKDGDS�EXQJD�GDUL�EDQN�QRQ�V\DULDK��GLULQFLNDQ�VHEDJDL�EHULNXW���

��� 3HQGDSDWDQ� GDUL� EDQN� ODLQ�� 3HQGDSDWDQ� %DJL� +DVLO� 6XUDW� %HUKDUJD��

3HQGDSDWDQ� %RQXV� )DVLOLWDV� 6LPSDQDQ� %DQN� ,QGRQHVLD� 6\DULDK��

3HQGDSDWDQ�5HNVDGDQD��3HQGDSDWDQ�%DJL�+DVLO�GDUL�3HQHPSDWDQ�GL�%DQN�

ODLQ�� 3HQGDSDWDQ� %DJL� +DVLO� 6HUWLILNDW� ,QYHVWDVL� 0XGKDUDEDK� $QWDU� %DQN�

GDQ�+DN�3LKDN�.HWLJD�DWDV�%DJL�+DVLO�'DQD�6\LUNDK�7HPSRUHU��3HQGDSDWDQ�

9DODV�6\DULDK�%,��GOO��

��� 3HQGDSDWDQ� EXQJD�� 3HQHULPDDQ� MDVD� JLUR� GDUL� EDQN� QRQ�V\DULDK� WLGDN�

GLDNXL� VHEDJDL� SHQGDSDWDQ� %DQN� GDQ� GLJXQDNDQ� XQWXN� GDQD� NHEDMLNDQ�
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�TDUGKXO� KDVDQ�� �� 3HQHULPDDQ� MDVD� JLUR� GDUL� EDQN� QRQ�V\DULDK� WHUVHEXW�

GLFDWDW�VHEDJDL�OLDELOLWDV�ODLQ�ODLQ�%DQN��WLWLSDQ�GDQD�QRQ�KDODO����

��� 3HQGDSDWDQ� RSHUDVLRQDO�� XVDKD� ODLQQ\D�� 3HQGDSDWDQ� GDUL� -XDO� %HOL��

3HQGDSDWDQ� GDUL� 6HZD�� 3HQGDSDWDQ� %DJL� +DVLO�� 3HQGDSDWDQ� .RPLVL��

3HQGDSDWDQ�$GPLQLVWUDVL�%DQN��/DED�3HQMXDODQ�&HN��3HQGDSDWDQ�7D¶ZLGK�

GDQ�/DED�3HQMXDODQ�6XUDW�6XUDW�%HUKDUJD�7HUVHGLD�8QWXN�'LMXDO��GOO��

��� 3HQGDSDWDQ�QRQ�RSHUDVLRQDO��XVDKD��3HQHULPDDQ� .HPEDOL� 3LXWDQJ� \DQJ�

7HODK�'LKDSXVNDQ��/DED�3HQMXDODQ�$VHW��/DLQ�ODLQ��

�

.(6,038/$1�

�

6HFDUD� XPXP� EDQN� V\DULDK� WHODK� PHQJXQJNDSNDQ� SHQGDSDWDQ� QRQ�

KDODO�VHVXDL�GHQJDQ�36$.�����WHQWDQJ�SHQGDSDWDQ�QRQ�KDODO��

3HQGDSDWDQ� QRQ�KDODO� \DQJ� GLFDQWXPNDQ� SDGD� ODSRUDQ� VXPEHU� GDQ�

SHQJJXQDDQ� GDQD� NHEDMLNDQ� WLGDN� PHULQFLNDQ� VHFDUD� NKXVXV� SDGD�

FDWDWDQ�DWDV� ODSRUDQ�NHXDQJDQ�PHQJHQDL� ULQFLDQ�VXPEHU�SHQGDSDWDQ�

QRQ�KDODO� WHUVHEXW�� 6HKLQJJD� SHQJJXQD� LQIRUPDVL� WLGDN� GDSDW�

PHQJLGHQWLILNDVL� ODQJVXQJ� VXPEHU� DQJND� \DQJ� WHUFDQWXP� GDODP�

ODSRUDQ�VXPEHU�GDQ�SHQJJXQDDQ�GDQD�NHEDMLNDQ��

�
� �
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'$)7$5�3867$.$�

�
�
$O� 6X\XWKL�� ,PDP�� $O� $V\EDK� ZD� $O� 1DG]DLU� IL� 4DZDLG� ZD� )XUX¶� )LTK� $O�

6\DIL¶L\\DK��

%DODQJJHU� 5)��� +�.DUDPR\� GDQ� +�*DPDOLHO�� ������ (YDOXDVL� 3HQJXQJNDSDQ�

'DQD� =DNDW� GDQ� 'DQD� .HEDMLNDQ� SDGD� /DSRUDQ� .HXDQJDQ� %DQN� %5,�

6\DULDK�&DEDQJ�0DQDGR��-XUQDO�(0%$�9RO���1R���-XQL�������+DO������±

������

+LVDPXGGLQ�� 1XU� GDQ� ,+� 6KROLNKD�� ������ 3HUVHSVL�� 3HQ\DMLDQ� GDQ�

3HQJXQJNDSDQ� 'DQD� 1RQ�+DODO� SDGD� %$=1$6� GDQ� 3.38� .DEXSDWHQ�

/XPDMDQJ��-XUQDO�=DNDW�GDQ�:DNDI�=,6:$)��9RO�����1R�����-XQL�������

,NDWDQ� $NXQWDQ� ,QGRQHVLD�� ������ 36$.� ����� 3HQ\DMLDQ� /DSRUDQ� .HXDQJDQ�

6\DULDK��KWWS���LDLJOREDO�RU�LG��

,NDWDQ� $NXQWDQ� ,QGRQHVLD�� ������ ('� 36$.� ����� 7HQWDQJ� $NXQWDQVL� =DNDW��

KWWS���LDLJOREDO�RU�LG��

0DXOLGKD�� (ULQD� GDQ� $1� %D\LQDK�� ������ .HUDQJND� 3HQJXQJNDSDQ� 7UDQVDNVL�

1RQ�+DODO�GL�%DQN�6\DULDK��6HPLQDU�1DVLRQDO�$NXQWDQVL�6\DULDK��61$6���

5R]LT�� $KPDG� GDQ�:� <DQWL�� ������ 3HQJDNXDQ�� 3HQJXNXUDQ�� 3HQ\DMLDQ� GDQ�

3HQJXQJNDSDQ�'DQD�1RQ�+DODO�SDGD�/DSRUDQ�.HXDQJDQ�/HPEDJD�$PLO�

=DNDW��-XUQDO�$NXQWDQVL�8QLYHUVLWDV�-HPEHU��
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6DOHKRGLQ�� 5� $XOL\DK� GDQ� 5� =XKGL�� ������ $KVDQ�NDK� 3HQGDSDWDQ� 1RQ�+DODO�

SDGD�4DUGKXO�+DVDQ"��6HPLQDU�1DVLRQDO�$NXQWDQVL�6\DULDK��61$6���

6KROLKLQ�� $KPDG� ,IKDP�� ������ 3HPLVDKDQ� +DODO� +DUDP� 'DODP� )DWZD� '61�

08,��VKDULDQHZV�FRP��

6KROLKLQ�� $KPDG� ,IKDP�� ������ 'DQD� 1RQ� +DODO� 3DGD� /HPEDJD� .HXDQJDQ�

6\DULDK��VKDULDQHZV�FRP��

:L\RQR�� 6ODPHW�� /DSRUDQ� .HXDQJDQ� 6\DULDK�� 6DOHHPD� ,QVWLWXWH��

VODPHWZL\RQR�FRP��

/DPSLUDQ����

-XPODK�VDPSHO�SHQHOLWLDQ�GDQ�%DQN�8PXP�6\DULDK�\DQJ�PDVXN�

GDODP�VDPSHO�SHQHOLWLDQ�

�

1R� .ULWHULD� -XPODK�6DPSHO�

�� -XPODK� EDQN� XPXP� V\DULDK� \DQJ�
WHUGDIWDU�SDGD�WDKXQ�����������

���

�� %DQN�V\DULDK�\DQJ�WLGDN�PHQHUELWNDQ�
ODSRUDQ�NHXDQJDQ�VHODPD�����������

��

�� %DQN� V\DULDK� \DQJ� PHPLOLNL� GDWD�
WLGDN�OHQJNDS�VHODPD�����������

��

� -XPODK�VDPSHO�DNKLU� ���

-XPODK�REVHUYDVL�GDODP�SHQHOLWLDQ�LQL�\DLWX���WDKXQ�[����

SHUXVDKDDQ� �����

�
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1R� 1DPD�%DQN� 7DQJJDO�2SHUDVL�

�� 37��%DQN�0XDPDODW�,QGRQHVLD��7EN�� ��0HL������

�� 37��%DQN�6\DULDK�0DQGLUL� ��1RYHPEHU������

�� 37��%DQN�0HJD�6\DULDK�,QGRQHVLD� ���$JXVWXV������

�� 37��%DQN�%5,6\DULDK� ���1RYHPEHU������

�� 37��%DQN�6\DULDK�%XNRSLQ� ��'HVHPEHU������

�� 37��%DQN�3DQLQ�'XEDL�6\DULDK��7EN�� ��'HVHPEHU������

�� 37��%DQN�9LFWRULD�6\DULDK� ��$SULO������

�� 37��%DQN�%&$�6\DULDK� ��$SULO������

�� 37��%DQN�-DEDU�%DQWHQ�6\DULDK� ��0HL������

��� 37��%DQN�%1,�6\DULDK� ���-XQL������

��� 37��0D\EDQN�6\DULDK�,QGRQHVLD� ��2NWREHU������

��� 37�� %DQN� 7DEXQJDQ� 3HQVLXQDQ�
1DVLRQDO�6\DULDK�

���-XOL������

�
�


